80

70

60

50

40

30

20

10

Ratio to Herwig++ 2.7.1 default
= N

o
&

Rivet 3.1.10, = 3.3M events

7000 GeV pp Top (parton level)
:| I I I | I I | I I:
- Ay (ttbar) (dy > 0) —]
E --0-- Herwig++ 2.7.1 default E
— O Herwig 7.2.1 default —]
- % ]
H ®_ _
C @ 7
N "ﬂ‘]*m\ ® _|
- AN _
| m\@\ _
__ B g ]
- BN ]
- B, N
i B, ]
u |, ]
= Rogn ]
:I | | | I | ¢@"@’rm-m_zp R PN, m !:
- g s =
~ ,j —
= ' =
L /' |
— ’m’ —]
N B ]
B g E ]

R _
_ O
- |- & {H- E"Eﬂ = —

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


